asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run6405 000 resressionm-asym sam24

diff_ bpmlX

10000 10000 u —1&C
5000 — M —20¢ 000 - m — 1ot
- - |
. . —80
ID_— —15( II]_—
-5000 [ . ~5000 |-
10000 10000
i 50 [
15000 m m 15000 = ]
_III|III|III|III|III|III|III|III| D _IlllIIIIIII|IIII|IIII|IIII|IIII ﬂ
60 -40 -20 O 20 40 60 BO 100 30 20 -10 0 10 20 a0
diff_bpmXum diff_bpmdaYium
l- ! . ff
= - I
10000 - " P 10000 —14(
5000 oo 5000 ke
- . —10¢
0o O
[ 15( N
-5000 ~5000 —
B - N
B N 60
10000 100 10000 —
: u - | 4D
15000 15000 |
B 50 B
" C 20
20000 [ n 20000 n
_III|III|III|III|III|III|III|III| D _I|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
60 -40 -20 O 20 40 60 BO 100 _30 20 10 0 10 20 an
difi _bpm1Xum difi_bpmda¥ium
N — . —18( :
4000 4000 | 4
n - —16( n
3000 u 3000 —12¢
- —14( -
2000 2000 o
- —{12¢ :
1000 |- 1000
- 10C -
(o (H g
~1000 | ~1000
- . "
2000 2000 40
- = -
- - ]
-3000 ~3000 - m 20
- X 20 - y
4000 =4000 —
Covv lrrr bvve bvv o bvrr b tvvn bera o Fol v bvvv e v v b v r b b 0
60 -40 -20 O 20 40 B0 BO 100 30 20 10 0 10 20 an
diff_bpm1Xum diff_bpmdaYium
1500 :— a5 1500 :— 121
1000 —lani 1000
- - —10c
500 — 350 500 —
o —3oc OF m e
~500 25( ~500 |-
1000 20 1000 -
1500 - 15( ~1500 |-
2000 - 10C ~2000 | -
- - 20
-2500 | 50 ~2500
n - n
_III|III|III|II III|III|III|III| _EH}DD_Illllllllllrlll|IIII|I

40 60 80 100

VS

:
E

diff_bpmdeY

:
:

10000 | —2s¢ 1po00 - ™ 12 10000 |- —{12¢
5000 |- —{20( 5000 - = e 5000 (- —10(
- - - N
- - —B80 - —&0
o —15¢ or o
~5000 ~5000 ~5000
- 10( - - =
- - - 40
10000 10000 10000 —
. 50 [ .
- . - 20
15000 E = 15000 n n 15000 n n
_I|III|III|III|III|III|III|I ﬂ _I|IIII|IIII|IIII|IIII|IIII|IIII| D _I|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ
40 20 0 20 40 60  BO 30 =20  -10 0 10 20 a0 ~150  -100  -50 0 50 100 150
diff_bpmdeX/um diff_bom4eY/um diff_bpm12X/um
! . [hf ] l 2{ l- l-
B — —{24( R B — 141
- - n -
g —{2a( - —| 18t -
10000 - e 10000 |- 10000 |- s
- n —14( -
5000 —{18( 5000 5000 -
- - —12 - -0t
- —18( - [ =
o 14 °c = — 100 °F
N C T m
-5000 :— 12 -5000 :— ~5000 :—
n 10( - n
10000 F 80 10000 60 10000
n u &0 n u 40 n u
15000 15000 15000
. 40 - ”0 - 20
20000 u 20 20000 [ 0 20000 |- u
_I|III|III|III|III|III|III|I ﬂ _|IIII|IIIIIIIII|IIII|IIII|IIII| D _|IIII|IIII|IIII|IIII|IIII|IIII| ﬂ
40 20 0 20 40 60 B0 30 20  -10 0 10 20 a0 ~150  -100  -50 0 50 100 150
diff bpmdeX/um diff_bomdaY/um difi_bpm12X/ium
diff_ diff_bpmdeY diff_
u n u ]
4000 4000 —14( 4000
- 1 ' - - 10(
3000 u 3000 yat 3000
- —14( - -
2000 2000 200 m
u —121 u — 100 u —[8o
1000 . 1000 | 1000
- 10( - -
o o o
~1000 ~1000 | ~1000 | M
- u n -
~2000 F- ~2000 |- 40 ~2000 |-
- " = -
~3000 -3000 —ap00
- o - 20 -
- n - n - n
~4000 -4000 | -4000
N N N 0 Cr v v bvvrr brvra brrra brrra o Fo v v bv v bvrvr b rva bv v b o | 0
40 20 0 20 40 60 B0 30 -20 -10 0 10 20 a0 ~180  -100  -50 0 50 100 150
diff_bpmdeX/um diff_bpmdaY/um diff_bpm12X/um
diff_ diff_ hpméleY diff_
- | - - — 4
1500 F- 45 1500 1500
- - 12t -
1000 —[aoc 1000 1000 | —{12¢
= —35( o — 10 =
200 F St S 00 m —{10(
o P o o
- - - —{80
~500 25( ~500  m -S00E
-1000 201 -1000 -1000 60
~1500 | 15( ~1500 | ~1500 |
[ [ [ 40
-2000 - 10( 2000 - -2000 | -
= - 20 - 20
-2500 50 -2500 ~2500
: :|||III|IIII|IIII|IIII|IIII|IIII| :IllllI|IIII|IIII|IIII|IIII|IIII| ﬂ

diff ‘bpm=COLZ postpan.png

-150 -100 -o0 1] 50 100 150
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run6405 000

diff_bpmlX .

1000 - 1000 |-
B —{14r i e REH
. = N
500 | . 500 |-
- - —80
B B |
o = u —{ 100 o | |
B [ | B
B RO B
=200 -0 m
i 60 B
- "
B B | |
1000 — 1000 — [ |
u [ ] A0 R |
i B 20
1500 20 1800
[ u i u
_|||||||||||||||||||||||||||||||| D _||||||||||||||||||||||||||||||| ﬂ
=60 =40 =20 1] 20 40 &0 a0 100 =30 =20 =10 (1] 10 20 an
diff_bpmXum diff_bpmdaYium
1000 I —16&( 1000 — I
- [ —100
B — 14 B
500 — 500 —
- " e [ %
i i [ |
ol ™ B 100 ol
= B.'} -
~500 =500 —
| 60 [
1000 - 40 1000 -
| " 20 i u
B | B |
1500 — 1800
|||||||||||I|||||||||||||||||||| D ||||||||||||||||||||||||||||||| {'
60 40 <20 1] 20 40 60 a0 100 =30 20 =10 (1] 10 20 an
difi _bpm1Xum difi_bpmda¥ium
-' -'
600 |- —|20c 600 |-
= - — 141
400 —{18( 400
K B —121
200 |- —| 16 200
. | [
of 14( oF m . —{10€
N - u 120 N
~200—m =200 — AD
B 100 B
=400 — u —AQND
N &0 B 60
~B00 - 600 [~
N 60 u 40
- 800 :— D ~ 800 :—
~1000 :— N a0 ~1000 :— m 20
_1EDD_|||||||||||||||||||||||||||||||| o _12“0_|||||||||||||||||||||||||||||| 0
-0 40 <20 1] 20 40 a0 a0 100 =30 20 =10 (1] 10 20 an
diff_bpm1Xum diff_bpmdaYium
.' ! L 1 lji
= _15[ N | _14(
200 |- —14c 200 - —12¢
| K | B
.T —12( . [ m
| . e REH
1| ‘H}D_ - | H}D_
i — 100 i
II:F_— [ | ﬂ__ |
i 80 B
“1o0 | &0 100
- m -
200 — 200 —
[ m N n
B 20 B
~a00 - [ | =300 —
_I L1 | L 11 | L1 I 11 111 | L 11 | L 11 | L 11 | B

-60 -40 <20 40 60 80 100

resression ‘res sam2468-vs.

dlff” '

di

P
E

1000
- - —{14¢
500 [~ e
of m n —{100
B [ ]
B ab
=500 N
- &0
[ m
~1000 [~ - ‘
~1500 | 30
- u
i 1 | 1 1 1 | L1 1 I L 1 1 | 11 1 | 11 1 | L 1 1 | | ﬂ
40 =20 ) 20 40 &0 80
diff bpmdeX/um
diff _bpmdeX
1000 — —14(
[ e
500 —
- |
i —10
ol [ |
i 80
~500 &0
| 40
-1000
| = 20
B [ |
~1500 |
1 | L1 1 | L1 1 I L1 1 | L1 1 | L1 1 | L1 1 | | ﬂ
40 -20 ) 20 40 &0 80
diff bpmdeX/um
l
N —|20(
600 |- —18¢
400 —15¢
200 | —{1ac
o 12(
- m
200 m 100
~400 |- " o
-600 [ B0
~800 40
1000 n 20
- Ll v v b v b v e e by by
=1200 40 =20 o a0 40 B0 BO o
diff_bpmdaX/um
l
[ —14(
200 -
| N
_ —{12¢
| 100 -
_ —{100
[ ]
or B0
100~ g B0
: 40
- 200 -
[ m
ol m
B | 1 IJ_ L1 1 I L 1 1 | 11 1 | 1 1

m-_

1000 |
[ 100
EI}D_—
- a0
.
ﬂ_
—EI}EI_—
1000
i 20
1500
- n
_|||||||||||I|||||||||||||||||||| D
a0 -20 10 D 10 20 30
difi_bpm4aYium
difL
1000
- 100
500
. 8o
ﬂ_
500
1000
- 20
: H
B [ |
1500
|||||||||||I|||||||||||||||||||| D
ap 20 10 D 10 20 30

diff_bpmday/um

diff _ hpmélcY

600 —14(
400 |

N —12¢
200 |

oF —10c
_200 [
400
~B00 [

n 40
—BEIEI_—

1000 . 20
:|||||||||||||||||||||||||||||||
=1200 -30 -0 -10 0 10 20 a0 o

diff_bpmdaY/um
diff _ hpméleY
zﬂn_— —10¢
| B
100 —80
1 -
ol
100
200
B [ ]
_apo -
_|IIII|IIIIIIIII|IIII|IIII|IIII|

=20

- postpan:png

.%

1000
i —10(
SO0 N
_ |
[ = - —80
0
- . 60
=500 N
i 40
~1000 |- ] g
B 20
~1500
i ]
_I | I | | L1111 | L1 11 | L 111 | L 111 I L1 11 | ﬂ
-150 =100 =50 0 50 100 150

diff_bpm12X/um

1000 —
500 —
ol |
[ m
~R00
1000 —
: - 20
B |
1800
||||||||||||||||||||||||||I||||| ﬂ
~150 =100 ~50 1] B0 100 150
diff_bpm12X¥/um
(!jfL
B —16I[
600 —
w0 —{14(
E{m:— —12C
[ [ ]
0rm 100
200
B 2
400 |
- G
—E-DEI_—
" 40
~800 —
1000 |- - 20
- AT NN AN NN AR
=1200 —1ED =100 ~50 1] B0 100 180 o
diff_bom12%/um
.'
B —12[
:mn_—
: B — 101
100
N —80
ol
B B0
“1o0 |-
B 40
_so0 |-
B [ | 20
300 - -
|||||||||||||||||||||||||I||||| ['

—1ED -100 -o0 1] 50 100 150
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

%

bpm1X

* + %2 | ndf 30.21/ 26
5000 -1 p0 9.456 + 15.146
- p1 -187.7+ 1.4
or
~5000 :— ”q,r#_
[ 1
= +
10000 —
1EDDD__III|III|III|III|III|III|III_|II_I|
=60 =40 =20 1] 20 A0 &0 ab 100

a

E ] — 5
oo f § x*/ndf  26.09/26
L
F p0  —9.81+18.13
5000 — K
n pl -1994 1.7
of
~5000 [ L
z d
10000 |- -
15000 |-
20000 |- TR TR RN A SR A
_EDI 1 I_ml | I_E.DI | ID 11 IEﬂl | Iml | IE.DI | Iml | ;DD

diff_bpm1X

¥/ ndf 26.87 / 26
p0 —-5.649 + 7.361 -
p1 49.11+0.70 H
- 4
1'DDU_—
oF
~1000 | _“}m
~2000 | * Jr#
Fraa v by b b bvar g bvr g baa gl

-60 -40 <20 O 20

gﬂlff_hpmlx

E %2 / ndf 30.7 / 26 %2/ ndf 33.68 / 40
1000 |- *P: -
F : p0  -2.046 + 1.187 p0  -3.366 + 3.489 -
500 | i
o p1 -29.48 +0.11 p1 15.01 + 0.58 | }
: of }
=300 :— i - 1
“1000 |- g ~200 — ﬂ
1500 — _mn:—
-2000 - i }
- 600 -
-2500 -
: 11 | 1 11 | 1 11 | 11 I 1 1 1 | 1 1 1 I 1 1 1 | 1 I-I | I

40 60 80 100

run6405 000 resre

40 60 B0 100

=

diff_bpmdaY

3””“:‘ - ¥2 | ndf 34.51 / 40
A W p0  -16.84 +22.92
o } +M p -198.6 + 3.8
i 1
2000 { t
of
~2000 [ |
- +H-Hi-H'b(
~4000 |- *]l )
-6000 |- yi
_II|IIII|I||||I|II|IIII|IIII|IIII|
-30  -20  -10 0 10 20 a0
%2 [ ndf EEEEMIU
p0  -13.75 + 22.64 \M{ fr
p1 285.7 £ 3.7
of
~2000
~4000 ,JLJ&HL#
~6000 [
_8000 t *
_II|IIII|I||||I|II|IIII|III||||II|
a0 -20  -10 0 10 20 30
¥2 ! ndf 352F4D
p0 29611+ 6.249 | Jr{|+ )
+++HH
p1 102.2+1.0
of
-1000 |-
i W
~2000 w
Sapo0 - -
Dol o oa ooty b yr o by ea by gl

=30 =20 =10 0 10 20 a0

diff_bpmdaY

reSSlOH ‘asym 'Saéal‘ﬁzléth;:w !

%

-, ¥2/ndf  35.42/28
I +J°f|¢h
5000 - p0 10.77 £ 14.11
p1 -210.8 + 1.4
['_
=5000 - ﬂﬂ‘ﬂl_
[ t
10000
1EDDU:IIIII|III|IIIIIIIlIIIII-II_lll

-40 <20 0 20 40 60 80

91

iff_bpmdeX

- .2
10000 F + / ndf 37/ 28
- *ﬂ*% p0  -10.65 + 18.84
5000
- o1 _209.7 +1.9
o
-5000 |- s
: f
10000 |-
15000 |-
20000 [ -
-I|||||||||||||||||||||I||||||

40 <20 0 20 40 60 a0

diff_bpmdeX

%2 / ndf 34.48 / 28

p0 -6.373 £ 7.085 -
}
o 5635 1072 | |
- HM
1000 [
of
~to00 |
-2000 | H
:||_|||||||||||||||||||||||||||

40 <20 0 20 40 60 a0

1500 = +2 I ndf

1000
K p0

200

0

45.52 /28
-1.8311£1.229

p1 -31.86 £ 013

-500

=1000

=1500

= 2000

-2500

“vs diff bpm-fit

dlthpméeY

:_ %2/ ndf 24.3/7 41
8000 |- N | p0 -12.33 + 22.93
4000 |- #{M p1 -190.6 + 3.6

i 1
2000 [~ { 4

of
_2000 |- 1

B qu
—4{}00_— { l
-6000 |- b

:IlllIII|IIII|IIII|IIII|IIII|II:—I|

30 -20 10 0 10 20 3
%2 [ ndf 2341f41
p0  -8.595 + 22.214 WH
1
p1 2728+ 35 ﬂ{
2000

oF
2000 |
4000 [~ |

- J[“]LH 3
-eo00 | h
8OO0 | _ |

:II|IIII|IIII|IIII|IIII|IIII|IIII|

a0 -20 0 -10 0 10 20 ET
¥2 ! ndf 2435f41 ]l
p0 2215+ 6.293 +M
p1 97.35+1.00

of
-1000 |- ,

h f
-2000 |- JorHH*L

T
~ap00 - - 1

Dol vre v e v e v e v oo b ol

=30 =20 =10 0 10 20 TH

diff_bpmdeY

2/ ndf 21.01 /741

p0 -2.672 + 3.458

p1 14.84 £ 0.55 1-t
oF
B t

~200

~400 |

N |
:|||||||||||||||||||||||||||||||

10

- postpan.png

diff_bpmI12X

¥2/ ndf 55.12 / 39
pO 09117 + 26.2058 _
pl 11.36 + 0.89 } )
.
; y
of { W { | H
= 20100 :— w i
40100 f—
=000 :—

diff_bpm12X

6000

4000

2000

=2000

=4000

"-"1

2000

1500

1000

500

-500

=1000

=1500

= 2000

=150 =100 -50 1] 50 100 150

¥2/ndf  49.07/39

- 00  -16.51+29.15
D1 ~4.34 +0.99
- | i ﬁﬂ
- i
o _
SHENEERIEEEEI NN EE TN NN EEEEE
=150 =100 =50 0 5O 100 150

iff _bpml2X

%2 / ndf 55.54 /35
p0 -2.56 £ 9.18
pi -4.003 £ 0.310

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
1
1
—_—
—=
-
—_—
—_
—
1

=180 =100 -50 1] 50 100 150

diff_bpm12X

%2/ ndf 49.09 /39
po -3.557 = 3.600
p1 0.3025 +0.1225 |

H

W' ool

wt AN -
a0
w00

-150 -100 -o0 1] 50 100 150



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

diff bpm1X

¥/ nf 30.33/ 26

pO 01006 £ 27718 H‘ -

p1 0.09139 + 0.26903 LH{'H

-zﬁn:— _1' )

-mnf—

-Ei}Df—

-mnf—

-1+}DD:—|||I|||I|||I|||I|||I|||I|||I|||I
60 -40 -20 0 20 40 60 80 100

diff_bpm1X

¥2 | ndf 36.63 / 26

p0 0.8062 + 25125 |

Pl 0.04143 + 0.24539 ﬁw )

~200 | {

-mnf—

-EJ}DE—

-amf—

-mnn:—

ST RN N SR

60 =40 =20 0 20 A B ab 100

diff_ bpml1X

¥2 | ndf 31.89/26
po ~1.365 = 1.273

pi 0.1209 + 0.1247 i

|I‘+rr' i

-100

=200

=300

-400 prr v tvva bvr b bvra bvra bv ool

-60 -40 <20 O 20 40 60 80 100

diff_bpm1X

¥2 { ndf 34.66 / 26

pO -1.03+ 057
p1 0.01223 + 0.05502 Hh_l i}

:
L

%2 / ndf 36.87 / 40
400 — - p0 —1.678 £ 2.753
no0 |- p1 ~0.7422 + 0.4661

uar

o M#MM
—E{Fﬂf—
—J!H}Df—
-ﬁﬂﬂ:.—.|-...'.|....|....|....|....|.'...|

=30 =20 =10 0 10 20 30

%

E - - ¥2 J ndi 30.54 / 40
200 —
B no 1.766 + 2.506
100
: { * &% pl  —0.009022 + 0.418234
0 1
BN A
~100 | -
200 - )
~300
—400 1
500 - )
:II|IIII|IIII|IIII|IIII|IIII|IIII|
=30 =20 =10 1] 10 20 a0
diff _ bpm4aY
200~ - 2 { ndf 34.25 ] 40
- p0 —0.9754 + 1.2704
100 -
- m“ p1 ~0.03813 + 0.21340
- }
o hii e '}'|||‘T
=100 u
=200 _—
=300 — -
G ol vv e tvvv e bvrv b vrrr bravra by aald
=30 =20 =10 1] 10 20 a0
diff bpmd4aY
¥ 2 { ndf 35.63 /40
p0 —0.9881 + 0.5649

p1 0.04921 + 0.09442

of |1 | T o
Lo i

run6405 000 resression r

s diff bpm:

diff _bpmdeX
32/ ndi 248/28

po 0.622 + 2. 761 H i

p 0.006429 £+ 0.289077 W} {

- 200

- 400

- 600

- 800

-40 <20 0 20 40 60 80

91

iff_bpmdeX

?

=200

¥ ndi 24.67 /28

p0 0.7198 £ 2.5043

P -0.001838 £ 0.261471

- 400

=600

- 800

=1000

=1200

40 <20 0 20 40 60 a0

diff bpmdeX
¥ | ndf 21.91/28

p0 —1.454 + 1.266 }

p1 0.08252 + 0.13304 H‘lﬂ

. ﬂ

=100

=200

=300

~400

40 <20 0 20 40 60 a0

diff_bpmdeX

1= ndf 40.14 / 28

po -0.9742 = 0.5665 }

| i
p1 0.0188 + 0.0587 FWP

’ |

50
~100
~150

=200

diff_bpmdeY

I %2 I ndf 36.71/ 41
400 —
i - pO —-1.563 + 2.760
200 | pl  —0.04881+ 0.44396
- |
- oy d
=200 — [ |
_ann _
1 1 | I-I 11 | L 111 | L 111 | L 111 | L 111 | L 111 |

=30 =20 =10 0 10 20 a0

91

iff _ bpmdeY

300
200

100

1=/ ndf 25.08 / 41
p0 1.586 £ 2.505

-1 1 p1 ~0.2992 + 0.3978

%

bpm12X

00 - ¥/ ndf 32.88/ 39
200 2 p0 —0.1632 + 2.7588
100 - ~0.07752 + 0.09287
= | m
= { Wﬁ%ﬁ |i|i ” H
100 H
~200
-300
400 )
_I|IIII|IIII|IIII|IIII|IIIIIIIIIl
=150 =100 =5 o a0 100 180
diff bpmli2X
%2/ ndi 31.91/30
pa 1.664 £ 2.510

p1 0.003926 = 0.085772

=100

m ' *JF{ | [

=300

~400

~500

'II|IIII|IIII|IIII|IIII|IIII|IIII|

=30 =20 =10 0 10 20 a0

dlthpmécY

100

¥* { ndf 3567 /41

p0 09655 +1.2710

O

=100

-150

=200

2
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

- 250

-|- | p1 —0.05322 + 0.20274

=30 =20 =10 0 10 20 TH

9-.

iff_bpmdeY

i %2 I ndf 30.2 / 41
100 —
- PO ~1.002 £ 0.566
ol pl  —0.1169 £ 0.0896
[ !
of '*‘ ’w MM
i } * } { H
sl
=100 _
I | 1 111 | 1 111 | 1 111 | 1 11 | | 1 11 | | 1 111 |
- =10 30

-fit postpan.png

i | |H + !
oF H f |
n i 't

~100 -1l 1] -

200

T

400
—||||||||||||||||||||||||||I|||||
=150 =100 =50 0 5O 100 150

¥/ ndf 39.7 /39

p0 —1.217 £ 1.269

p1 0.00790% + 0.043010
= | IJ t h
D_

: LA J[H
=100 —

200 - i
:||||||||||||||||||||||||||||||||
=150 =100 =50 0 50 100 1580

diff bpml2X

‘,;{2 { naf 36.95 /39

pO -1.09+ 057

p1 0.01654 + 0.018490 )
D__ _I | I-l-H-TIJ.I
T

20

_4,[;.:— }

_ﬁg:— o

_31}:—

~100 |-

_1ED:_|||||||||||||||||||||||||I|||||

-150 -100 -o0 1] 50 100 150



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run6405 000 resre

5000

5000 —

10000 —

15000 —

=60 =40 =20 0 20 40 60 80 100
diff_bpmXum

diff bpm1X

10000

5000

=5000

10000

15000

20000

2

-40 =20 0 20 40 60 g0 100
difi _bpm1Xum

:

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

2

40 =20 0 20 40 60 B0 100
diff_bpm1Xum

diff

- _— -

1500 — 1500
1000 — 1000 f—
500 - 500 -
of of
-500 — -s{mf—
“1000 F- “1000 |-
~1500 — -1500 E—
~2000 — ~2000 f—
2500 |- _2500 -
_I 1 1 | 1 11 | 111 I | 111 | 11 1 | 111 | L1 .I | -

40 60 80 100

10000 —

5000

=5000 —

10000 —

15000

_I | | | I 1 111 | | I | | | | | | I T | | | I |
30 -20 10 0 10 20 a0
diff_bpmda¥ium

10000

5000

5000

10000

15000

20000

IR AN I B AN AN AN AN BN AN AN AN AN AN AN B A B A
20 =10 0 10 20 30
diff_bpmda¥ium

2

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIII

AR NN NN NN
20 =10 (1] 10 20 an
difi_bom4aYium

2

ressionm-asvm sam2468-vs

5000

5000 —

10000 —

15000 —

I 1 11 | 1 1 1 | 1 1 1 | 1 1 1 |
40 20 0 20 40 60  BO
diff_bpmdeX/um

10000

5000

=5000

10000

15000

20000

PR AT T T T O A B A B A
-0 20 0 20 40 &0 80
diff_bpmdeaXium

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

N N I O O A O A O
40 20 1] 20 40 a0 a0
diff_bomdeX/um

15005— 15005—
mnnf— 1*3“3"3'3—
500 500 -
nf— ﬂ‘f—
-E{mf— -5{?'3'5—
-mnnf— -mnnf— ‘
_15[)[]5— -15[:1[]5—
-Eﬂnnf— -Eﬂ'ﬂﬂf—
_25[;.[]5— -EEDDE—
_ 3‘|} :I|IIII|IIIIIIIII|IIII|IIII|IIII|

10000 —

5000

5000 —

10000 —

15000 —

_I | 1 111 | 1 111 I 1111 | 1 111 | 1 111 | 1 1 11 |
30 =20  -10 0 10 20 a0
diff_bom4eY/um

10000

5000

= 5000

10000

15000

20000

tov e by by s by v g by g |
-30 =20 =10 0 10 20 30
diff_bpmdea¥ium

4000

3000

2000

1000

= 1000

= 2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

prv b rrrr b bvvr b v b
=30 20 =10 1] 10 20 an
difi_bpmdaYium

=20

diff ‘bpmi=Scat ‘postpan.png

10000 —

5000

5000 —

10000 —

15000

=150 =100

10000

5000

=5000

10000

15000

20000

_50 0 50 100 150
diff_bpm12X/um

—1EEI =100

diff _

4000
3000
2000

1000

=1000
=2000
=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIII

-50 1] 50 100 150
diff_bpm1 2X/um

=180 =100

1500

1000

200

=1

-500

=1000

=1500

=2000

-2500

_50 0 50 100 150
diff_bpm12X/um

_:H}nnllllllll

-150 -100

-o0 1] 50 100 150
diff_bpm12X/um



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run6405_000_re2f€ssi"bn"' “Teg

ifL
1000 —

500 —

-500 —

=1000 —

=1500 —

IIII|III| |I |III|
=60 =40 =20 0 20 40 ﬁ[:l EH} 100
diff_bpmXum

1000

500

~500 —

=1000 —

_1EDD_II|III|I III|II |III|

| [ 11
-60 40 =20 0 20 40 60 EH} 100
difi _bpm1Xum

600

400

200

=200

~400

=600

-B00

=1000

l Ll
=1200 40 -20 0 30 40 ﬁu EH} 100

diff_bpm1Xum

2

200

| 100

=100

-200 —

~300 —

1000 1000
ErI}EI_— E-DD_—
ol =
st -500 |
~1000 |- 1000 -
~1500 |~ ~1500 [~
_IlllIIIIIIIlIIIIlIIIIlIIIIlIIII _I|III|III|III|III|III|III|I
_ap _20) 10 0 10 20 an 40 =20 0 20 40 &0 80
diff_ bpmdaYium difi_bpmdaX/um
' iff bpmdeX
1000 1000 )
500 500
ol = ]
: ?r%:':_f'l_._. :
_500 ; . _500
~1000 | ~1000
_1EDD_I|IIIIIIIIIlIIIIlIIIIl I|IIII _1EDD_I|III|IIIIIII|III|III|III|I
_ap _20) 10 ) 10 20 an 40 -20 ) o0 40 &0 80
diff_ bpmdaYium difi_bpmdaX/um
™ *
- I - L]
00 oo |
400 400 |-
200 |~ 20
ofF ‘ o
_g[m:— -EDD:—
400 -400 |-
600 [~ ~B00 -
_34}[;.:— -E-D':':_
1000 | 1000
:||||||||||||||||||||||||||||||| :|||||||||||||||||||||||||||
=1200 -30 ~20 -10 0 10 20 a0 =1200 40 =20 o a0 40 B0 BO
diff_ bpmdaYium difi_bpmdaX/um
™ ! . [hf
| I |
200 200
| - | L
100 100
1 - k| =
ol 5 ok -
100 100
o0 200 )
_apn - _apo -

it

am2468-vs diff bpmsscat

1000 —

500 -

~500 —

=1000 —

=1500 —

30 =20  -10 0 10 20 a0
diff_bom4eY/um

1000

500

~500

=1000 —

_1EDD_|IIII|IIIIIIIII|IIII|IIII|IIII|

=30 =20 =10 1] 10 20 a0
diff_bpmday/um

600

400

200

=200

~400

=600

-B800

= 1000

-1200"""' plvvvr brvra b v b aa

30 -20 -10 0 10 20 a0
diff_bpmdaY/um

iff _bpmdeY

200

| 100 -

=100 |~

- 200

~300

10

ostpan.png

1000

200

- 500

=1000

=1500

1
-150

1000 —

500

-500

=1000

=1500 -

600
400

200

-200
-400
- 600
~800
=1000

=1200

200

100

=100

- 200

-300

~100 =50 0 50 100 150
diff_bpm12X/um

-150

=100 -50 1] 50 100 150
diff_bpm1 2X/um

—1EEI

100 -50 0 50 100 150
diff_bpm12X/um

-150

-100 -o0 1] 50 100 150
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run6405 000 resgre

1000

500

-500

=1000 =
|
|

=
IIIIIIIIIIIIIIIIIIIIIIIIIIII

_.1 EDU 1 11 | 1 11 | 111 I 1 1 1 | 1 1 1 | 1 1 1 | 1 11 | 1 11 |
=60 =40 =20 0 20 40 60 80 100
diff_bpmXum

diff

6000

4000

2000

1]

=2000

=4000

~6000

~8000

10000

12000

2

-40 =20 0 20 40 60 g0 100
difi _bpm1Xum

:

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-E-I}DU_"'l"'l"'l"'l"'l”'l"'l"'l

-60 40 =20 0 20 40 60 B0 100
diff_bpm1Xum

d'
1500

1000

500

1]

=500

=1000

=1500

=2000
[ |

-2500 [ ]

40 60 80 100

—14(

—12C

—{10¢

20

—| 700

400

30c

200

100

1]

—14(

—12(

—100

20

o

200

100

:
E

:
:

100
| B N | | N
| —1&¢ | . —16( | _lag
1000 1000 | —1=0 1000 | 1000
R —114L = u = — {4 = — 80
a a —{10c i a
500 —{12¢ 500 500 —12¢ 500 —70
Z —10( i —80 i - - .
ok = ok ok
- 80 - 60 i -
~500 &0 ~500 ~500 ~500
. . - 40 [ .
. 40 . [ . 20
~1000 | . u -1000 . 2 ~1000 ~1000
i L i . " ¥ i 10
_15DD_I|IIIIIIIIIlIIIIlIIIIlIIIIlIIII ﬂ _1EDD_I|III|IIIIIII|III|III|III|I ﬂ _15DD_I|IIII|IIIIIIIII|IIII|IIII|IIII| D _15nn_lllIII|IIII|IIII|IIII|IIII|IIII| ﬂ
30 20 10 0 10 20 a0 40 =20 ) 20 40 &0 80 -3 =20 =10 ) 10 20 an 150 =100 =50 ) 50 100 150
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium diff_bpm12X/um
n n _ = _ n L _.14(
6000 [ 6000 [ 6ot 6000 [ 14t 6000 [
B —12( B B B
4000 4000 4000 [ 4000 —qa¢
n - —500 - —12¢ "
2000 - 1o 2000 2000 2000 -
- - - - B {10
0 0 - —10c 0
0F il ] iy 0
N N n N ™.
~2000 | ~2000 - 2000 - - 2000
- - 300 - - m
~4000 ~4000 ~4000 [ 4000 &0
6000 [ 6000 [ 200 6000 [ 6000 [~
B B B AD B 40
~BO00 - ~8000 - ~B000 [~ = ~BO00 =
- 20 - 10C - 20 - o
10000 10000 10000 10000
B B B [ | B |
_|IIII|IIIIFIIII'IIII'IIII'IIII _I|III|III|III|III|III|IIIFI _|IIII|IIIIIIIII|IIII|IIII|IIII| _IIIII|IIII|IIII|IIII|IIIIIIIIIl
12000 == 20 10 ) 10 20 ap U 12000 == 53¢ ) 20 40 &0 80 o 12000 =5~ %0 10 ) 10 20 U 12000 —5e=——T00 -50 ) 50 00 150 U
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium diff _bpm12X/um
diff_ d' diff_bpmdeY diff_
. . . —145( . —{10¢
4000 4000 4000 | 4000 |
" —{400 ~ —12( - —lanc ~
000 3000 anono 00 — .
- —{a5¢ - - - —go
- - _ - —35¢ -
2000 & s000 - W 1ot 2000 2000 Sp
N —{a0r N C | N
1000 | 1000 1000 K oo~ N
u " u 50 " C u —{&0
of of - of =t of
u u C C =
n 200 C B0 C 200 -
~1000 ~1000 -1000 ~1000 a0
u u u u ™
n 130 n n 15( n
-2000 ~2000 . 40 - 2000 - 2000 =
N N C N |
~3000 - 100 ~3000 ~3000 |- 100 ~3000 20
C | C a0 C u
~4000 50 -4000 ~4000 50 ~4000
- . u - .l - N . - u .
-E-DDD_'l""I""|""|""|""|"" 0 —E-I}DD_'l"'l"'l"'l"""'l"'ll 0 -ErI}EIU_l""'""I""lllllll”'l""l o -EI}DU_'l""l""l""l""l""l""l 0
_30 30 10 0 10 20 an 40 =20 ) o0 40 &0 80 A =20 -10 ) 10 20 an 150 -100 50 ) 50 100 150
diff_bpmda¥ium diff_bpmdaX/um diff_bpmdaY/um diff_bpm12X/um
diff_ diff_ diff_bpmdeY diff_
- 1 - - —12¢ - —
1500 |- 1500 |- —egr 1500 |- 1500 |- x x
C C C C —{12¢
1000 — —100 1000 1000 1o 1000 — :
n " = N n
500 500 4o 500 soo- ™ —1oc
- | P - - ao - |
oF ol ok o
: . 30( : -
=500 — =500 - =800 =500
~1000 -1000 | 200 ~1000 1000w
~1500 ~1500 ~1500 [ ~1500
- - 100 - -
- 2000 - 2000 - 2000 - 2000
= - 20 - - - - 20 - m 20
2500 :— -2500 n -2500 m -2500 m
[ [ B ||||||||||||||||||||||||||||| AR NN NN NN RN N EEN | 0

sami357 vs diff bpm-COLZ “postpamn.png

oression ““"‘a”SVIl'l sam

-150 -100 -o0 1] 50 100 150
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run6405 000

100

=100

=200

=
IIIIIIIIIIIIIIIIIIIIIIIIII

-60 -40 <20 1] 20 40 60 80 100

diff_bpmXum
diff _

500

=500

=1000

=1500

=2000

-2500

2

-40 =20 0 20 40 60 g0 100
difi _bpm1Xum

diff_bpm1X

400~

| 200

-200 —

~400 —

-E{?D"'ll”lllllllll”'l"'l"""'l

-60 40 =20 0 20 40 60 B0 100
diff_bpm1Xum

diff
200

100

=100

=200

=300

~400

-60 -40 <20 40 60 80 100

— 101

20

1]

—45(

—35(

30c

250

200

15(

100

50

1]

—1&C

—10C

20

o

—16(

—14(

—12C

100

20

:
E
:
E

[ = [
200 — —70 200
[ [ u
| i . | i
= B % B .
| 1{?0_— m | 1DD_—
1 1
- - n
| . W
o o
[ = [
=100 =100 —
—E{FD_— 10 —2{?0_—

[ u [ u
||||IIIII|||||||||||||||||||||| ﬂ |||||||||||||||||||||||||||
=30 =20 =10 (1] 10 20 an =4 =20 1] 20 40 &0 a0

difi_bpmdaYium difi_bpmdeX/um
d. d.
B B I
N —apr N
ErI}EI_— E-I}EI_—
D__I —25I ﬂ__
- - -
B B [
-500 — —200 500
~1000 15( =1000
B [ | . B
1500 [~ 1500 |-
i 100 i
2000 _2000 |

B 50 "

_2500 [~ = _2500 |- -

_|||IIIII|||||||||||||||||||||| {' _|||||||||||||||||||||||||||
=30 20 =10 (1] 10 20 an 40 20 1] 20 40 60 a0

difi_bpmda¥ium difi _bpmdeXsum
400 — 400 —
| - —80 | -
| o0 T ]

- | -

o ® o X

- 200 — -200 —
=400 =400 —

- - n

_ - -

_||||||||||||||||||||||||||||||| _|||||||||||||||||||||||||||

-600 -30 —20 -10 0 10 20 a0 0 =600 40 =20 o 20 40 60 BO
difi_bpmda¥ium difi_bpmdeX/um
d' d.
- - I
200 200 |-
B e REH B
| - | -
100 |- 100 |- ¥
! N m —80 ' N
" opm Coef
[ [ | [
_100 ~100 -
N [~ [
~200 - 200
_s00F ~300 |-
[ 20 [
N n - m
- 400 — -400 — m
B T v ol |||||||||||||| L 11

regressmn'"mreg_saﬁii?ﬁ"ws dif

_bpm4

“"bpm

—10C

20

—45(0

—35(

25(

200

150

100

—10C

20

—14(

—120

—10C

%
5
:

- —70
200 |-
| [ —&0
100 m
| —50
ﬂ -
100
. 30
200
10
= |
: b
| | L 111 | L 111 I L1 11 | L 111 | L 111 | L1 11 | D
30 -20 -10 0 10 20 a0
diff_bpmdaYium
d .
B —
- —30(
500 —
of N —la5(
_son — 200
~1000 |- 15(
- n
1500 |- -
_2p00 -
B 50
_a500 |- m
B | L1111 | L1111 I L1 11 | | I | | L1111 | L1 11 | D
S0 20 10 0 10 20 a0
diff_bpmdaYium
diff_bpmdeY
- —lap
400 —80
|
. —70
| 200

- 200

~400

10

plovvv s bvvra bvv v b v bv v b ol
~600 g -20 -10 0 10 20 aw
difi_bomdaYium

diff

200

—121

100 — 100

-.
ol I

=100

=200

=300

- 400 -

L.LZ postpan.png

[ N
200
| |
100 —
.I N
o™ n
i [
=100 — :..
=200
- u "
||||||||||||||||||||||||||I|||||
=150 =100 =50 1] 50 100 150

diff_bpm12X/um

diff_

200

~500

=1000

=1500

=2000

-2500

—1ED =100 -50 1] 50 100 150
diff_bpm1 2X/um

400 —

| 2001

-200 —

400 —

“n

—'E-DD'll"'ll”'l”"l""l""l""l

~180  -100  -50 0 50 100 150
diff_bpm12X/um

91

200

100

e

=100

-200

=300

~400 -

—1ED -100 -o0 1] 50 100 150
diff_bpm12X/um

20

10

0

—35(

—25(

200

150

100

50

0

— 100

20

0

—1&C

— 100

20

1]



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run6405 000 regre

a

E.'}D — I
N 1 2 | ndf 2952 /26
400 Jf% 1
- M 00 1.368 + 2.955
200 H \
- - o1 ~11.39 + 0.28
ﬂ_
200
- 1
-400 HHV
600 | {
~800 |- . i
~1000 |-
:|||||||||||||||||||||||I|||_|||||

-60 -40 <20 O 20 40 60 80 100

diff_bpmlX

12/ ndf 19.54 / 26

—_
|
-I-+
&

4000

+
L

p0 0.4885 + 2.3305
2000

IIIIIIIIIIIII
F

p1 -116.3 £ 0.2

=

=2000
=4000
-6000
-8000

10000

40 <20 0 20 40 60 80 100

diff_bpm1X

EIIIIIIIIIIIIIIIIIIIIIII

12000

F - 2 / ndf 27.27 | 26
2000 -
1500;_ { pO -6.069 + 10.504
mnnz— } p1 -10.61+ 1.00
E'I}DE— *
e, 1
= f
500 Hﬁh{
—1-|}|:I|:|E—
—15[]05—
2000 [- )
E||||||||||||||||||||||||||||||_||
B0 =40 =20 0 20 A B ah 100

diff_bpm1X

-++++ x2/ndf  27.69/26
1000 :— 1.,&:
. p0 -2.142 +1.180
500 —
- p1 ~-30.67 +0.11
o
-5[:03—
1000 = .
N 1
- b
-1500 [
~2000 — )
2500 — ,
'III|III|III|IIIIII|III|III|III|

40 60 B0 100

%

_bpmdaY

L - %2 / ndf 93.98 / 40
1000 - F
N p0  -1.053 + 1.648
[ %
500 [ p1 -41.37 £ 0.27
op
—ErI}D:— .
i +++‘H
N t
~1000 |- -
- t
-I | | L1 11 | L 111 | | I | | L1 11 | L1111 | L1 11 |
=30 =20 =10 (1] 10 20 a0
2indl 355740

p0 ~7.935 + 13.502

p1 39.63 + 2.22 } J }
'I:l;— W‘I | +_+
SO0 k
-mnnf— { |
L
1500 -
-EﬂlDDf—
" RN SN NN R PR R
=30 =20 =10 1] 10 20 ah
%2 / ndf 435?!’4'3
H}#
p0 0.2046 + 1.9511 M
p1 1559+ 0.4
oF
_1000 |-
2000 & )
N ,f'
- #
~3000 [ e
4000 | ]l
Dol oo v bvv o by gl aal
=30 =20 =10 1] 10 20 a0

diff_bpmd4aY

E

¥2 / ndf 29.46 / 28

pO 1.811+ 2.888
200

Pmatirasy
=

p1 -13.5+0.3

- 200

-400

WL |

|||||||||||||||||||||||-|||||
40 =20 0 20 40 60 80

diff_

- 600

-800

=1000

a000

i ¥2 [ ndf 34.72 /28
- pO
p1 -125.8 + 0.3

4000

1.036 = 2.650
2000

0

=2000
=4000
~6000
8000
10000

A AT T T N A B A BB B A
12000 ~40 =20 0 20 40 60 80

diff_bpmdeX

b - %2 / ndf 36.58 / 28

1500 p0  -6.835+ 10.472

1000 { p -7.293 4 1.059
500

- 500

=1000

=1500

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
?

=2000

||||||||||||||||||||||||||_|||
40 20 (1] 20 40 B0 ab

iff bpmdeX

°-.

il Y2 /ndf 355140 e x?/ndf  34.83/28
conl 1000 [ 'ﬂ'g
i p0 -5.679 + 3.708 - p0 -2.292 + 0.953
Z 500
400 p1 ~7.29 4+ 0.61 . p1 -33.98 £ 010
= ﬂ __
200 -
- *W i 500
. b { - 3
ﬂ: - * ]l ‘ - ~1000 ﬁ*'h
B + 1 B }
200 } } ~1500 |
-‘“3"3':— ~2000 f—
.3.;_ ~2500 ;—

ressmn asym sam

13*””57 vs diff Bom-fit

L ¥2/ndf  26.79/41
1000 — - ++
- = p0 -1.074 £1.778
N ’rﬂﬁ
500 - A p1 -386 + 0.3
ol
500 - +
: HH*ﬂ
~1000 |- b
- }
-IlllIII|IIII|IIII|IIII|IIII|IIII|
30 =20 =10 0 10 20 30
%2 [ ndf 23 75/ 41
p0 —4.814 + 13.454
p1 376+ 2.1 ‘} | k
oF } | |
L ” i
_1000
-
_2000 |- {
:|I|IIII|IIII|IIII|IIII|IIII|IIII|
30 =20 10 0 10 20 30
}: { nat 3068/ 41
1'+{|‘+
pO 0.07572 + 159937 J_#“d-
p1 148.3+ 0.3
of
-mnnf—
-Eﬁnnf— y
_MDUE— _,++“*:
-
-4000 b
:|||_||||||||||||||||||||||||||||||
30 =20 1D 0 10 20 a0

diff_bpmdeY

[ - %2/ ndf 21.99 /41
800 — -
i PO  -4557 + 3.706
a00 —
- | p1 ~7.672 + 0.588
400 —
200 T “W
ol
- | i n
o0 |- 1
- f }’ |
a0 | |__
B '|_| | L 111 | L 111 | L 111 | L 11 | | L 11 | | L 111 |

10

- postpan.png

diff_bpm12X

¥2 / ndf 54.75/39

pO 0.462 £ 3.186

p1 1.543 £ 0.106 { -
:mn:— i w |'
of { } +HH H
-EEID:— P {
-mn:—
Jmn}| L | | | | |
-150 =100  -50 0 50 100 150
%2/ ndf 51] 68 /39
pO0 -5.109 + 13.619
p1 1.709 + 0.465
1000 [~ “
ok *Wﬂw _
el
1000 |- }
~2000 |-
—E-DUU_—||||||||||||||||||||||||||||||||
150 -100 50 ) 50 100 150

diff_bpm12X

1500 %2 / ndf 50.91/ 39

L)

pi -4.365 £ 0.349

1000 -4.13 + 10.40

200

o

- 500

T qw

=1000

=1500

= 2000

-2500 -

prr vt vr e brvra brvr b aa
=100 ~50 1] B0 100 180

tn—
D_

>

diff_bpm12X

x2 / ndf 51.22 /39

p0 -4 136 + 3.694
p1 1.503 £ 0126 M }
; o [
T ” MMMW“

-150 -100 -o0 1] 50 100 150



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run6405 000 resre

diff_bpm1X

%

bpm4aY

¥2  ndi 31,68/ 26 150 - %2 [ ndf 43/ 40
p0 0.2035 + 0.7339 100 _ p0 -0.2362 + 0.7285
p1 0.01163 + 0.07048 ] i p1 -0.178 £ 0.121
: b o - Ll -
or _IIII$Hﬁﬁ*ﬁﬁ%ﬁ - I
[ {4 I i ;
- I or Fy I I
_5,[;._— i
Z -5[::— t
_1[;.[;.:— I [ -
i -100 - -
—1ED_—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII :IIIIIIIIIIIIIIIIIIIIIIIIIIIII_IIII
=60 =40 =20 0 20 40 60 iTH 100 =30 =20 =10 0 10 20 30
diff bpmlX  diff_bpm4aY
150 —
¥ f ndf 3251/26 - ¥2 | ndi A7 .77 1 40
PO 1.926 + 0.969 ﬁJ,HId 100 - p0 1.312 + 1.007
p1 0.1807 + 0.1040 I i 5[::— |- pl  —0.08912 £ 0.16473
[ : - I
[ [ 1 II bt 4 I f
400 - - oy IIII IR
600 | _5,[;.:—
800 [ -mn:—
_'H:IIDI:I_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII _IEDIIIIIIIIIIIIIIIIIIIIIIIIIIIII_IIII
-60 40 =20 0 20 40 B0 a0 100 -30 20 =10 0 10 20 a0
diff_bpmi1X diff_bpmdaY
350 [~ 200 - -
: ¥2 J ndi 37.36 / 26 N ¥ | ndf 37.73/40
o0 B
s p0  —0.003986 + 1.342663 100 I p0 0.6829 + 1.3370
250 -
C pl  —0.003862 + 0129125 N ) { by pl  —0.08092 + 0.22299
E'I:III:I __ I]_ - _|_ 1 - .
: N “I]LIIH" rl
150 | C _
n ) =100 N 7
100 - .
5{?:— - 200 N
-, 1 } -
of [l M 1
- H P -300 —
-50F .
Fovabvaa b b b b b bl _WDIIIIII-IIIIIIIIIIIIIIIIIIIIIIIIIII
-60 40 =20 0 20 40 60 LTH 100 -30 20 =10 0 10 20 30
diff_bpmi1X diff bpm4aY
100 - 32 / ndf 21.91/26 x2 / ndf 33.52/ 40
50 I
B {I po ~3.073 £ 0.635 p0 —3.03 £ 0.63
o WIIM
- _I pl —D.005662 + 0.062124 p1 0.118 £ 0.105
50| -
-mnf— ‘ - ‘I“I t 1 IH{I
- - er I‘IIhrp'tF'Ifr"'“I*Hﬂ"P‘I'IH“IIIIII i
~150 i I w } i
-200 |- 5ol -
250 | -
_amE ~100 I
: 11 I 1 11 I 1 11 I 1 1 I 111 I 1 1 1 I 11 1 I 111 I :I

40 60 80 100

diff_bpmdeX

¥ | ndf 24.04 / 28
pO 0.2735+ 0.7309
p1 0.01084 £ 0.07523
’ I #III'I pem IIINJ[II

Z
I LI T T I LI LI I T T T

=100

-40 <20 0 20 40 60 80

diff_bpmdeX

%2/ ndf 30.94 /28

po 1.852 + 0.964 by {“I

pi 0.1289 +0.1112 I

~400

-600

- 800

=1000

_IIIIIIIIIIIIIIIIIII

=1200

40 <20 0 20 40 60 a0

diff bpmdeX
32/ ndi 2112/ 28

p0 -0.1426 £ 1.3378

p1 0.001708 £ 0137257

:I I”I — Iﬂ

40 <20 0 20 40 60 a0

diff_bpmdeX

¥< { ndf 20.98 / 28

pO -2.918 + 0.633 {A.I
p1 0.01715 + 0.06654 |
100

-200 -

-300 -

s diff bpm-fit

diff_bpmdeY

100

- 100

=30 =20 =10 0 10 20 30
¥ | naf 2965/ 41
) p0 1.476 £ 1.006

=100

100

=100

- 200

-300

| -
by lvvr e bvvrr bvvvr v bvven b g
=30 =20 =10 1] 10 20 a0
diff _bpmdeY
i IE.III'ICII 2963/ 41
- 3
i : p0  0.4029 +1.3377
C -] I'ITIII-IIIIIII-’III p1 -0.145 £ 0.212
: i IIIIIII _
N +
G vy b v by bvvra v v brv o |
=30 =20 =10 1] 10 20 an

diff_bpmdeY

b
|

|

¥2 / ndf

2812/41

po -0.2313 £ 0.72582

-0.1399 £ 0.1153

| IW“‘“’”“‘”"“IIIIH

_'I I

p1 —0.09724 + 0.15885

|

i 2/ nd 33.87 / 30
100 —
: po -0.05753 £ 0.73018
a0 I pi —0.001773 £ 0.024650
- o _
SR PN
: IIIII R
of }I
=100 -
_1ED_IIIIIIIIIIIIIIIIIIIIIIIIIIII_IIII
=150 =100 -50 0 50 100 150

diff_bpm12X
- } %% | ndf 33.38/139

150
n pO 1.954 + 1.005

100 |

ol ~0.02484 + 0.03327
1] I I IIIII I

_50

-100 i}

-150

-200
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

BT ST ) o 50 100 150

}: { nat 36.26/ 39

p0 0.3636 + 1.3340

p1 0.00903 + 0.04538

50 I
N | { }
D_ H
- _ H t il

_5{;:— 1 }

100 )
_|I||||I||||I||||I||||I||||I||||I
180 -100  -50 o 50 100 150

diff bpml2X

¥2 / ndf 31.23 /39

p0 2877 +0.634

p1 0.006975 + 0.021089

‘3{2 ! nat 31.79 7 41
pO —2.905 + 0.633
p1 0.068143 + 010040
ok I + III I

N fi |
=100 - t |

:I | I L1 11 I L1 11 I L1 11 I L 11 I I L 11 I I L1 11 I

=20 =10 an

pPoOStp

an.png

| |
T IIIIIII%IIIIIII |

I
—u
tn—
-

-100 -o0 1] 50 100 150



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run6405 000 resgres:

1000

500

-500

=1000

_.1 EDU 1 11 | 1 11 | 111 I 1 1 1 | 1 1 1 | 1 1 1 | 1 11 | 1 11 |
=60 =40 =20 0 20 40 60 80 100
diff_bpmXum

diff_
—

6000

4000

2000

1]

=2000

=4000

~6000

~8000

10000

1EDDDIII|III|III|III|III|III|III|II.I|

-60 40 =20 0 20 40 60 g0 100
difi _bpm1Xum

:

4000

3000

2000

1000

1]

=1000

=2000

=3000

=4000

-Hmﬂ_"'|'”|"'|"'|"'llllllllll”l

-60 -40 <20 1] 20 40 60 80 100

diff_bpm1Xum
diff _

1500
1000
500
1]
=500

=1000

=1500

=2000

-2500

40 60 80 100

:
E

1000

500

=500

=1000

=1500

6000

4000

2000

=2000

=4000

~6000

~8000

10000

12000

30 -20 10 0 10 20 a0
diff_bpmda¥ium

=30 =20 =10 0 10 20 a0
diff_bpmda/um

;

4000

3000

2000

1000

=1000

=2000

=3000

=4000

~5000

1500

1000

500

1]

=500

=1000

=1500

=2000

-2500

30 -20 10 0 10 20 a0
diff_bpmda¥ium

a8 vs diff Boiisscat

oresSsSionn "asvill Ssdin

:
E

1000

500

-500

=1000

1 | 1 1 1 | L1 1 | L 1 1 | 11 1 | 11 1 | L 1 1 | |
=1500 -40 -20 0 20 40 60 BO
diff bpmdeX/um

diff
—

6000 [

4000 N

2000

0

=2000

=4000

~6000

~8000

10000

|||||||||||||||||||||||||i|
12000 -40 =20 0 20 40 [ 80

diff_bpmdaX/um

%

4000

3000

2000

1000

=1000

=2000

=3000

=4000

A A T T I T T N O O O A Y
=000 T oo 0 20 40 60 BO

diff_bpmdeX/um
diff

1500
1000
500
0
=500

=1000

=1500

= 2000

-2500

1000

500

~500

= 1000

=1500

6000

4000

2000

= 2000

=4000

= 6000

=B000

10000

12000

4000

3000

2000

1000

1]

= 1000

= 2000

=3000

=4000

= 5000

1500

1000

500

1]

=500

= 1000

=1500

= 2000

= 2500

.
e

30 =20  -10 0 10 20 a0
diff_bom4eY/um

=30 =20 =10 1] 10 20 a0
diff_bpmday/um

diff_bpmdeY

30 -20 -10 0 10 20 a0
diff_bpmdaY/um

=30 =20 10

ostpan.png

1000

200

- 500

=1000

111 | 1 111 | 1111 | 1 111 | 1 111 I 1111 |
~150  -100  -50 0 50 100 150
diff_bpm12X/um

=1500

4000

2000

=2000

=4000

~6000

~8000

10000

I ||||||||||||||||I||||||||||||||
12000 =180 =100 =50 o 50 100 150

diff_bpm1 2X/um

;

4000

3000

2000

1000

=1000

=2000

=3000

=
|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlII

=4000

plv v v vv o brr v b v bv v bvr g |
=5000 160 =100 ~50 1] B0 100 180

diff_bpm12X/um
diff

1500

1000 e limen
P T
sitadilag O
LS rs-.a;fffg‘::s‘f-;_...

1

500

1]

-500

=1000

=1500

= 2000

-2500

v by b b bvv i by |
=180 =100 -50 1] 50 100 150
diff_bpm12X/um




reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run6405 000 regression-reg

200

100

=100

=200

500

=500

=1000

=1500

=2000

-2500

400

| 200

- 200

~400

-600

40 60 80 100
diff_bpmXum

|
-40 =20 0 20 40 60 g0 100
difi _bpm1Xum

-60

©200

100

=100

=200

=300

~400

40 60 B0 100
diff_bpm1Xum

40 60 80

200

100

=100

=200

diff_bpmda¥ium

=1000 =

=1500 =

=2000 —

-2500 =

diff_bpmda/um

diff_bpmda¥ium

200

100

=100

diff_bpmdeX/um

iff_bpmdeX

200

500 —

=1000 —

=1500 —

=2000 —

-2500 —

diff_bpmdaX/um

diff_bpmdeX/um

L ] L]
- I n |
- 200 - 200
| - . | -
100 _ 100 |
| - | -
1 - 1 -
o - o
100 i ) 100
200 |- 200
~300 ~300
_mn:— -""DD:_
B Co lvv o by v v bvv e bvvr v brra b

sam1357-vs dif

200

100

=100

=200

= 1000

= 1500

= 2000

- 2500

T 200

100

=100

=200

=300

~400

diff_bom4eY/um

diff_bpmday/um

diff_bpmdaY/um

“bpm-scat postp

0

an.png

200

100

=100

-200

~150  -100  -50 0 50 100 150
diff_bpm12X/um

00 =

=)
I

500 —

=1000 =

=1500 =

=2000 —

-2500 =

=180 =100 -50 1] 50 100 150
diff_bpm1 2X/um

[
400 - L i

| 2001

-200 —

sonf-

plv v v vv o brr v b v bv v bvr g |
~600 160 =100 ~50 1] B0 100 180
difi_bom12X/um

T 200

100

e

-200
=300

-400

100 |

v by b b bvv i by |
=180 =100 -50 1] 50 100 150
diff_bpm12X/um




